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1. 2021 =0 fod fhon Figae A8 @oieis! SISl Sahe 7y f-mr TR Herer 2

(1) e fafe (2) T FAR

@) e Tt (4) ¥

Who among the following has been awarded as the ‘Best actor’ (male) at the BRICS film festival
2021 ? .

(1) Nawajuddin Siddique (2) Akshay Kumar

(3) Pankaj Tripathi (4) Dhanush

2. 2022 9o Wiafed siegg e UEh W FUR U IRAME Wifqhemeag Siv 37ed ?

1) SR due @ (2) IWMF FHAR sE

3) fomen g @) AR T

Who is the first Indian Physicist to win the Prestigious Boltzmann Medal for the year 2022 ?
(1) Professor Deepak Dhar (2) Ashok Kumar Barua

(3) Bimla Buti (4) D.D. Bhawalkar

3. AfRA 2020 (WHET ATRL-TE R 2021 TEl Foed]) Yafefius g 9ed 34 v fiwd sfed wrdia
Tfeet S0 3R ?
(1) 7 o|a (2) wifeT e (3) Ushdl AN (4) w9 o

Who is the First Indian Woman to win two medals in the Tokyo 2020 (held in Aug-Sep 2021)
Paralympics Games ?

(1) Avani Lekhara (2) Bhavina Patel (3) Ekta Bhyan (4) Kashish Lakra

4. AT ATl FRIERIS HEAET 2022 TEA HIUR F01 Ao FEfiTR Teamat & FI0GE S ?

(1) Y I (2) A F@ A

(3) ¥ w feAd @ fS=E I

Which Credit Scheme is launched for Prisoners of Yerwada Central Jail in 2022 as a Pilot
Scheme ?

(1) Sahanubhuti Scheme (2) Aage badho Scheme

(3) Bank for Prisoners (4) Jivhala Scheme

5. TN Si@Ea T SHEA T @RI (GODT) a1 WErel 2021 = SEAINR SeEaEH 3
TS WRarEl S FHIF .

(1) 9eH (2) fgdm (3) qd (4) =T

As per Report 2021 of Global Observatory on Donation and Transplantation (GODT), India has
been ranked in Organ donation and transplantation in World.

(1) First (2) Second (3) Third (4) Fifth
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6. ‘fordis difHes’ W QRIS oE@F HI01 R ?

§1) TS HhSres 2) e o

(3) refur faem 4) feEF e
Who is the author of the book, ‘Beyond Possible’ ?

(I) Bernadetee Mcdonald (2) Nimsdai Purja
(3) Arunima Sinha (4) Stephen Alter

7. GRS HIVE YA T TlER Sy gefug o ?

(1) @ "HYR® (2) T HgRW

(3) g WgHU (4) TR

Which of the following option is associated with Amrit Sarovar Mission ?
(1) Water Conservation (2) Soil Conservation

(3) Air Pollution (4) Fishery

8. ‘werws didam AR’ Saa werede!, S faum faem omea 2
(a) & I 2018 AE e WA gE Fo.
(b) VIRETST FIVTAET AR I <1 SN = Thal.
(c) T AnMsmia 92 gHEaTen deltemsi=n aiued ST THara THEY FAN e TR
Tt Y
1) TR@IG) (2 FTH@IC) @) FWEOIE @ Faw
Which of the following statements are correct about the ‘Mukhyamantri Tirth Yatra Yojana’ ?
(a) This scheme is initiated by Delhi government in 2018. 4

(b) Any citizen of India can avail this scheme.
(¢) Ayodhya is recently included in the list of places that one can visit under this scheme.

Answer Options :
(1) Only (a) and (b) (2) Only (a) and () (3) Only (b) and (c) (4) All of the above

9. Teig TiH SR UG IAW, TR T SR TG TUH I FOAE A E, T HIORdl WRAE T
318 ?
(1) % v_W (2) RS (3) () TWES
Rajiv Gandhi Orang National Park, which has been renamed as Orang National Park, is located in

which Indian State ? ‘
(1) Andhra Pradesh(2) Karnataka (3) Assam (4) Uttarakhand
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10. 49rg HYA/7 AEd@n. (YRa - o1 o s aft)
(a) Ui WIRA - wea ufvrEn fRrer wfteg SR, 2022 9E S FHoam e,
(b) TNIHEIH, SFAHH & Moy 47 firer IRy safeed 2.
it S
(1) &R (a) (2) FH () @) @IEIA @) T TR
Select the correct statement/s - (India - Central Asia Summit)
(@) The First India - Central Asia Summit held in January, 2022

(b) Republic of Tajikistan, Republic of Uzbekistan were present for the Summit.

Answer Options :
(1) Only (a) (2) Only (b) (3) Both (a) and (b) (4) None of the above

11, ¥ 2022 9 Hifa swarmen Suraged Geeiea FrorE gt FoEn et ? -
(1) TeiE FAR () IR (3) e = @) FgEwE
Who has been appointed as a new Vice Chairman of NITI Aayog in May 2022 ?
(1) Rajiv Kumar (2) Ramesh Chand (3) Jayati Ghosh (4) Suman K Bery

12. GAOTH! IV G M gorgret 4 gRifere W g faer wehwe g e ok s
R 30 T8 ?
1) IR - G T AAEE Soswidl S e
@ s SR e F (BARC) (M1 STURTRTT S9ie &%)
(3) ¥ W fmd HirERE (ISRO) (VRE St SeivA goe)
@) feu fme sfe Smowiie affAmRRA (DRDO) (Wt dviied anftr fywma deen)
Which of the following Organisation is organising a special programme for school children called
“Young Scientist Programme’ “Yuva Vigyani Karyakram’ “YUVIKA' ?
(1) UNICEF - United Nations International Children’s Emergency Fund
(2) Bhabha Atomic Research Centre (BARC)
(3) Indian Space Research Organisation (ISRO)
(4) Defence Research and Development Organisation (DRDO)

13. ‘TFHRE FES 191, T O FEE 996 @ RivmEn feaarEt oy e ?

(1) 3 SgvE fgaw (2) T TEH feaw

(3) i wwar feaa 4) o | = o

‘Remove laws that harm, create laws that empower’ is the theme of which day ?
(1)  Zero Discrimination Day (2) World AIDS Day

(3) World Equality Day (4) World Social Justice Day

F=E FHATS AR / SPACE FOR ROUGH WORK - PT.O.
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14. ¥R o™ Sy R RUS (T W ST mud Tl STHE, 2022 99 frged
D! IR
1) =& faam (2) Uy, "9y
(3) =N % TUFOR (4) W1 THSIF WA
has been appointed as the chairman of the ISRO, the Indian Space Research Institute
in January, 2022.
(1) Dr. K. Sivan (2) Dr. S. Somnath
(3) Dr. K. Radhakrishnan (4) Prof. MGK Menon
15. TS SEAIEA YO FAWFTR 2020 Wow 378 S TR Hefid T STt srevaet S 9 ge
HeAl ?
(1) TR S FI (2) HEAEIH
(3) AR g (4)  HoREH T
Which operation was launched by Punjab’s Excise Department in 2020 to curb illicit liquor trading
related crimes ?
(1) Operation Black Cobra (2) Operation Red Rose
(3) Operation Black Bull (4) Operation Prahar
16. WIGSIH! DIV FSTGEITIR S WAWTE S0 TEHRHal Fie WIS ArTiehi=ar Jed gahial
Y SN 3 7
(1) 14 9 TGl (2) 16 &t HEAGEHI
(3) 24 =t TeTgeERl (4) 39 &t HEAIgERl
Which of the following amendments imposed restrictions on the Fundamental Rights of the citizens
to protect the sovereignty and integrity of the country ?
(1) 14h Amendment (2) 16t Amendment
(3) 24" Amendment (4) 39t Amendment
17. TEOEEA= 9F1 XV ${dmid To 79 Sod vl 37ed ?
(1) ¥ 333 9 341 (2) HOT 334 d 342
(3) HOH 332 F 340 (4) HOH 343 1 351
What are all the nine Articles covered under Part XVII of the Constitution ?
(1)  Article 333 to 341 (2) Article 334 to 342
(3) Article 332 to 340 {(4) Article 343 to 351
18, HRATE SfuFE sSHawarst AR STAT Soren Tt = S 7

(1) 1938 (2) 1939 (3) 1940 (4) 1942
In which year the British accepted the demand for making the constituent assembly of India ?
1) 1938 (2) 1939 (3) 1940 4) 1942

FAT FEHETS AR / SPACE FOR ROUGH WORK
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19. VREY % A I YU T U9 TER 9109 Ud ¥ SREEESt 1930 € 1932 = SO
BT TeNs TRET SUaw AL
(1 ;A () =W (3) (4) =
round-table conferences were held in London from 1930 to 1932 to see how best
Indians could administer their country.
(1) Two (2) Four (3) Three (4) Five
20. WRGIT GfEuea w9 154 FH TATE FEER T TS S0 3TH 3.
(1) Hers (2) Hibmies
@) IS @) I T
According to the article 154 of the Indian Constitution executive power of State is vested in the
handsof __ .
(1) Chief Minister (2) Council of Ministers
(3) The Governor (4) None of these
21, GES Sredl @
e - 1 qr - 11
(a) & weEaftET () T HTS AATTHRS TS AATIRS T F00
(b) TERW () weTE HTERYIRET quR
(©) SIHER gooT (i) srfysrrae 1 FvEET SRY TN
(d) ISEW (iv) Tt HERT qurEs
it 39T

@ () () (@
(1) (v) @ @ (i)
(2 ) @) @ @
@) @ @ @) @)
(@) @@ @) Gv) @
Match the following :

List - I List - II
(a) Habeas-corpus () To transfer a case from lower to higher court
(b) Mandamus (i) To look into legality of a post
(c) Quo warranto (iif) To command authority to Perform its duty
(d) Certiorari (iv) To look into legality of arrest

Answer Options :

@ (b () (@

1) @) @) @ @)
@) (v G @
@) @ @O @) )
@) @) @) Gv) @)
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22,

8 A
TGS TR = Fod 243 E OO SeE Tued @ wn A Shien ST FIverd s @
Jqate faafia gt o, = =iedy sifamam wie.

(1) T feme SER FeamrgT=a s
(2) TrEsuER SRR e feimarg
(3) mmmmmmm

(4) vErEE fEeuEn Ha gE Ao vfeear fiE avio

According to article 243 E of the Indian Constitution every gram panchayat unless dissolved earlier
under any law for the time being in force, shall continue for five years from .

(1) the date of declaration of election results

(2) the date of declaration of election

(3) the date appointed for its first meeting after elections

(4) the beginning of first financial year after the Panchayat elections

23.

HIoAT iHAT FIARIITER Joyd wdeien SHaY Fudr e ?

(1) <Fu= afid (2) ¢ fom wfte

(3) i fom Afidt (4) e aft

Fundamental duties were included on the recommendation of which Committee ?
(1} Devraj Committee (2) - Karan Singh Committee

(3) Swarn Singh Committee (4) Kripalani Committee

24,

GIATUH! HIOM FET ARREHE TTE 2

(1) wmHemEa fdfEr 9 e o

2) THGHHT SFAS TAR FO

(¢) M fuifa Foen fafay st age =00

(4) AYRT RS

Which of the following is not the functions of Gram Sevak ?

(1) Proper utilization of Gram Panchayat Funds

(2) Preparation of Gram Sabha Report

(3) Collection of Various Taxes prescribed by the Government
(4) None of these

25.

Frore TEAgER 11 ¥ o e A TR wAifae 9 13?2 (51A(K)
(1) 42 H TAGEH A - 1976 (2) 52 &t gZAGE HTAE - 1980

(3) 62 T HSAGEI HHL - 1992 (4) 86 dt WA HIIE - 2002
By which Amendment the 11" Fundamental Duty was later added to the list ? (51A(K))
(1) 42" Amendment Act - 1976 (2) 5274 Amendment Act - 1980
(3) 62" Amendment Act - 1992 (4) 86" Amendment Act - 2002

F<AT FTAETS AN / SPACE FOR ROUGH WORK
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26, TR Nl SES Ao WEHidres o Ry w{er s ?

(a) FIFR IR FTH .

(b) 1884 Ted S Faedgy srAfuer=R TamgT

(¢ fadtn TFrRE Taemgl’ fhae

(d) TERE Fe’ ghraadt TN

(1) (a) 30 (b) w1 . 2). (a), (b) W (c) T

(3)  (b), () 0T (d) Fl @ (), (o) I (d)

Which of the following statements are true about Narayan Meghaji Lokhande ?

(a) Founder of Labour Movement

(b) Establishment of Bombay mill hands Association in 1884

(c) ‘Raobahadur award by the British Government

(d) Establishment of Maharashtra Labour Union

Answer Options :

(1) (a) and (b) only . @ (a) (b)and (c) only

(3)  (b), () and (d) only #) (@), () and (d) only
27, S o \

(a) ¥ 9 ST g G & IEER

(b) SE 9 (i) A TR FRL

(c) —aramyte ST GA (iiiy A

(d) A aES G (iv) STRE 9y

i I

@ () (0 (@
(1) @) @ @) (i)
(@) (@) @ @) @
@) @ @@ @@ G
4) @) @ @) G

Match the following :
(@) Rand and Ayerst's Murder (i) V.D. Savarkar
(b) Abhinav Bharat (i) Anant Laxman Kanhere

(c) Justice Jackson’s Murder  (iii) Madan Lal Dhingra
(d) Curzon Wyllies Murder  (iv) Chaphekar Brothers
Answer Options :
@ ® {9 (4
Q) @) @ @ @i
(2) () @) () ()
3 @ @ @ @)
@) @) @ @b ()

FEA FHIETE A6 / SPACE FOR ROUGH WORK P.T.O.
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28, @A fqatoeasT =i e :
() RS 9fed TTHR
(b) SRR gAY TR
(c) WS JA9UAR SHE
(d) o= IgMSA GHSH
it 6 Y
(1) TRME AR (2) 9Tt IS
(3) oS v (4) <Y viER WS
Identify the person based on the following description :
(a) First Journalist in Marathi
(b) The teacher of Prince of Akkalkot
() Founder of Marathi Newspapers
(d) Director of Colaba Weather Observatory
Answer Options :
(1) Dadabhai Naoroji (2) Bhau Daji Lad
{3) Balshastri Jambhekar (4) Jagannath Shankar Sheth
29, IV UL WY AHATAR S T2 =1 TohA IS ?
(1) 9@ iR (2) @ sAfuaeH
3) e @ (4) JTCIRER AL
In which Session of National Congress the two groups came together again ?
(1) Surat Session (2) Lucknow Session
(3) Faizpur Session (4) Allahabad Session
30. 1928 7= dfge feer s foremefl oRw= orezer o7 €1 2
(1) <HE™ 2R (2) YER TS TE
(3) WS AR (4) WegTa e
Who was the Chairman of first All Bengal Students Council held in 1928 ?
{1) Devendranath Tagore (2) Pandit Jawaharlal Nehru
(3) Jayprakash Narayan (4) Ravindranath Tagore
31. BT GISHUEH fayasht faar Fer?
(1)  Tes T SRR (2) —aE TSt e
(3) FYEEg W (4) TEW WIS v w4
Name the Social Reformer who got married to a Widow ?
(1) Gopal Ganesh Agarkar (2) Justice M.G. Ranade
(3) Keshavchandra Sen (4) Maharshi Dhondo Keshav Karve

T FTETS AN / SPACE FOR ROUGH WORK
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32. Ty Fedie IRaE ST |
(a) YRAK® SRR 8E
(b) FHi= =
(c) TEEd GURoN
(d) I gHTTon
it Sy
1) (a) AT (b) B (2) (b) M () o (3) (c) I (d) o (4) IO T AW
Deindustrialization of India in British Period means :
(a) Decline of Handicraft Industry in India
(b) Decline of Cottage Industry
(c) Development in rural life
(d) Development in agriculture
Answer Options :

(1) (@ and (b)only (2) (b)and (c)only (3) (c)and (d) only (4) All of the above

33. SN oM ;
o & g
(@) FEER ()  SAHTETRS qIHHA
b) S (@) feAmEs
(c) e (i) SRS WA
@ = (iv) foFer o1t
it I
(@ (b) (9 ()
0 @ @ @) ()
(2) @@ @ (v (i)
(3) () (v} () ()
@ O @ @) (@)
Match the following :
Revolt Centre Leadership
(a) Kolhapur (i)  Appasaheb Patvardhan
(b) Jamkhandi (ify Chimasaheb
(c) Aurangabad (iii) Babasaheb Bhave
(d) Nargund (iv) Phida Ali

Answer Options :

(a) (b) () (d)
O O @ §Gv) @)
2 @ @ (v) ()
G) ) Gv) @) )
@ @ @ @ 3§

FA1 FMATE! AN / SPACE FOR ROUGH WORK PT.O.
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34. SRR SIS ST S Tes frefomd St vfet ywer afser o
1) Gt st (2) TS e
(3) T T (4) o A
Who was the first Indian Lady, who received Degree in Medical Science in America ?
(1) Supriya Joshi (2) Anandibai Joshi
{3) Ramabai Ranade (4) Anutai Wagh
35. STHEHR TeEaod T HElH Mefetl Wrefiesish! HIvmn eFT a S ?
(a) T TER
(b) RE-TEW
© wEuA &
(dy STegFEE famo
it I
(1) (a) 7o (b) ekt @ (c) 3nfor (@) wem
(3) (a), (b) M (c) waa (4) 0o ¥ TR
Which of the following programmes were started by Mahatma Gandhi with Non-cooperation
Movement ?
(a) To Propagate Swadeshi
(b) Hindu - Muslim Unity
()  Prohibition of liquor
(d) Removal of Untouchability
Answer Options :
(1) (a) and (b) only (2) (c)and (d) only
(3) (a), (b) and (c) only (4) All the above correct
36. @I Torehry arr faeerd o SRUM IO oo T FvEAE e ?
(1) <3 | ) St g
(3) dfg=hd WRd (4) At T
Which institution was formed with a view to provide Political Education to the People ?
(1) Deccan Sabha (2) Sarvajanik Sabha
(3) Bahishkrut Bharat (4) None of these
37. 12 % 1875 Usht A= e 3819 HIS HeT?

(1) S @ @ (4) =TT
Where was the first Revolt of the Peasants occured on 12t May, 1875 ?
(1) Baramati (2) Pune (3) Supe (4) Chakan

Fo1 FMETS AT / SPACE FOR ROUGH WORK
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38, 'WNG ¥9% GAWN WEGIH R Yieg = gefava F1E %o 8 ?
(a) sifame A
(b) TR TwWANY FHE, SFHTA
(c) A SR, Fenrarea ford
(d) Toommet feusgmR, FeeTE are

g I
(1) (a) enfor (b) wFd (2) (b} 30 (c) e
(3) (a), (b) 30 () w (4) (), (o) ¥ (d)

Which of the following Famous Personalities were produced by ‘Bharat Sevak Samaj ?
(a) Shrinivas Shastri

(b} Pandit Hridaynath Kunjru, Thakkarbappa

(¢} N.M. Joshi, Kakasaheb Limaye

(d) Vishnushastri Chiplunkar, Keshavrao Bagde

Answer Options :

(1)  (2) and (b) only (2) (b)and (c) only

(3) (), (b) and () only (4) (), (c) and (d) only

39. HaE WEHRA TR 7Y 91 AEed VA THATl SR HUEet v wiave e %e?
(1) < =Y R wiawA
() T Uaed HiEH
@) T TxF Sfdee wiwm
4) v A= FHfavH

Which Commission was appointed by the Bombay Government to inquire into the on going Peasant
discontent in the South ?

(1) Land Revenue Act Commission

(2) Deccan Riots Commission

(3) The Deccan Agriculture Commission

(4) Land Owners Commission

40. 1918 HeA Hog Jofie ‘ STTwE ek URWes’ aremy Hv AR ?
1) SAR M TS (2) Sl FEERE At
(3) WEANNE TR 4) e efem
Who was the President of “Asprushyata Nivarak Parishad’ held in Mumbai in 1918 ?
(1) Chhatrapati Shahu Maharaj (2) Dr. Babasaheb Ambedkar
(3) Sayajirao Gaikwad (4) Nanabhai Haridas

FHeAT FRTATA AR / SPACE FOR ROUGH WORK PT.O.
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41, TOGUH! SO T Wi &thes S 3T ?

1) A (2) WeNE (3) WY 4) Ty wRW

Which of the following state has more geographical area ?

(1) Rajasthan (2) Maharashtra  (3) Uttar Pradesh (4) Andhra Pradesh
42, GHGIHT HIUCE T T G S SO S ?

(1 g (@ #R 3) fagm @) TS

Which of the following State Shares its boundary with two Countries ?

(1) Tripura (2) Manipur (3) Mizoram (4) Nagaland
43, e e :

| e S T

(a) SIFRY () FAew

(b) IR () shfewm

(c) TLHA (iii) W IS

(d) ST (iv) faer

et I ;

@ () (9 (@

O @O @ &) @)

(2) Gv) (i) @ @

@ @ O v (@)

4) @@ @) @ )

Match the following :

Iron and Steel Industry State

(a) Bokaro (i) Karnataka

(b} Durgapur (i) Odisha

(c) Rourkela (iii) West Bengal

(d) Bhadrawati (iv) Bihar

Answer Options :

@ () (g (d
o @ @) @)
i @

@ ) @) ()

(1)
(2) () (i)
(3)

) @) Gv) () (@)

FoA1 FHEE A1 / SPACE FOR ROUGH WORK
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44. TRENEHS YHq FEag=n SHTuR oot ek Sal 6 B0 ?
(1) FoERE, deet, HelEove, HdHhvat
(2) WIER, FHYAT, FRESTAT, FTHTA
(3) oo, WETHsYay, HIeed, Heehver
(4) HIYITE, TRV, AT, HeRT

Which of the following is the correct descending order of mountain peaks according to their heights
in Maharashtra ?

(1) Kalsubai, Salher, Mahabaleshwar, Trimbakeshwar

(2) Salher, Kalsubai, Mahabaleshwar, Trimbakeshwar

(3) Kalsubai, Mahabaleshwar, Sather, Trimbakeshwar

(4) Kalsubai, Mahabaleshwar, Trimbakeshwar, Salher

45. SFIUAT 2011 WO ot foeems fEmuiR S o ?

(1) R @) simErE (3) e @) ™

As per Census 2011, which of the following district has high sex-ratio ?

(1) Satara (2) Aurangabad (3) Buldhana (4) Jalgaon
46. WERIEEIS I YUAE TR 9 i S0 @S fee g Ay SieT o ¢

JEOT qrOATS T e

(a) WSt @) e

(b) W= (i) B

(€) aeTad (i) TETE

(d) =iRa (iv) Ul

i I

(@ (b) () (d)
M @ @ G @)
(2) () @ (v) (i)
(@) @) @) @ @
4y (v) () (@ @)
Match the correct pairs of Hot water spring and its locational districts in Maharashtra :

Hot Spring District
(a) Salbardi (1) Jalgaon
(by Sav (ii) Thane
(c) Vajreshwari (iii) Raigad
(d) Changdev (iv) Amaravat

Answer Options :

(@ (b) (c) (d)
I @ @) (3§ (@)
@) @ @ @) (i)
(3) () (v) (@ ()
@) () (@) @ ()
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47. SitTEE TeRE fauarmaY el deweren TR el Tiel 8 Taid ouH EuR fie I 7
(1) SIReeng fn gl (2) e anfo fEaeh
(3) wice Infn fEneh (4) SHEERE A T
Which district is largest and smallest in terms of geographical area in Aurangabad administrative
division ?
(1) Aurangabad and Parbhani (2) Beed and Hingoli
(3) Nanded and Hingoli (4) Osmanabad and Jalna
48. ‘&’ ¥ 39 TR RN SR THaiie agesd 7
(1) Herd (2) ®RwEg (3) wEYel @) v
In which mountain range of Maharashtra ‘Asthamba Peak’ is located ?
(1) Mahadev (2) Harishchandra (3} Satpuda (4) Sahyadri
49, WERIERIS fRdt foemisn dim Sies TaM TR 3R 7
1) 5 (2) 6 By 7 4) 8
How many districts of Maharashtra have borders with state of Karnataka ?
1 5 (2) 6 Gy 7 4) 8
50. TH 39 agYR BN fHdt ?
(1) 3.4 fafesr (2) 4.3 fufesm (3) 34 fufear (4) 12 fafesw
One inch air pressure means how much ?
(1) 3.4 millibar (2) 4.3 millibar (3} 34 millibar (4) 12 millibar
51. G faum e

(a) RAM ARG T TRVAEIET 30° T 40° I ATRATeAT T2 e A e HRONYA IR,

(b) RaTET YHIG S fagd T AR AR SRUEHIE] HRUTYE e

it I

(1 faua (a) 0T 3R

() faum (b) T TR

() foum (a) anftn (b) st mea

(4) Taum (a) aftr (b) = T

Observe the following statements :

(a) The existence of jet streams in 30° to 40° North latitudes belt is responsible for blowing of
Monsoon winds in India.

(b) The Vast continental area of India is responsible for blowing of Monsoon winds.

Answer Options :

(1) Statement {(a) is correct

(2) Statement (b) is correct

(3) Statement (a) and (b} are correct

(4) Statement {a) and (b) are not correct

FoAT FURETS AT / SPACE FOR ROUGH WORK
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52.  ¥eR-ATUT TETE AR HERTSRIe ol el S el ?

(2) e ®) e (c) TR (@
T I

1) @Ib)FR (2) (b)PH 3 GIA@HF @4 (d)FH
Which city/cities in Maharashtra Mumbai-Agra highway does not pass through ?
(a) Amalner (b) Daund (c) Nashik (d) Dhule
Answer Options :

() (@and (®)only ) (b)only () (b)and (d)only (4) (d)only

53. WeleTo ufgel fosak q@omd e .
(1) @ d 3 1925 (2) Y& o FTA 1925

(3) TR A 1918 (4) TR d dhEe 1925
The first railway to run on electricity in Maharashtra __ .
(1) Byculla to Thane 1925 (2) Mumbai to Kurla 1925
(3) Dadar to Bandra 1918 (4) Dadar to Borivali 1925

54, W Ao A= AR FHI0ET qaiwel Iag 318 ?

(1) =R 2 U (3) HEE (4) &

Nannaj Sanctuary in Solapur district is famous for which bird ?

(1) Peacock (2) Rohit (3) Maldhok (4) Flemingo
55. hicel eamdte S SR __ =6 siie@al 9l

(a) drEt TR (b) FLER

(c) =T (d) FINTIE THS

it 3

(1) ™ (a) (2) = (b) (@) (o) nfom (d) (4)  (a) 37 (b)

The Jyotiba Mountain in Kothapur district is recognised as

(@) Wadi Ratnagiri (b) Karvir

(¢) Panhala (d) The hill of Kedareshwar

Answer Options :

(1)  Only (a) (2)  Only (b) (3)  (c) and (d) (4)  (a) and (b}
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56.

18 A

T W U S W .

(1) AT Sl Sk Bl 2

(2) HIHITH Ht YA AL S

(3) T s afiw Shean =Tl SiwmT e 2

(4) TN HH AEEHS O TFd SHER W SHRAT

Repo rate is the rate at .

(1) Commercial banks lend to public

(2)  The rate which is charged for Government lending
(3) R.B.L lends to commercial banks

(4)  The rate is charged on saving deposits with commercial banks

57.

WS BV YRS SFEE FTRRM SR e ?

(a) Trama (b) foarerh wEfEm
(c) UHA FZF Yt (d) TEUiHFARTE gurm
gl 39T ; '

(1) (a) AT (b) 2) (o) = (d) (3) (@ ®) (© 4) (d) ™+
Which of the following is not the reason for Population Explosion in India ?

(a) lliteracy (b) The Universalization of Marriage
(c) Joint Family System (d) Upliftment in Life Style

Answer Options :

(1)  (a) and (b) (2) (9 and (d) G) (@ () () (4) (d)only

58. TF TR off TH FEE Fegl TR @] HLUAN 3T 2
(1) SHaRI 17, 2000 (2) fedaX 30, 2003
(3) [ 15, 2005 (4) S5, 2004
When was the FRBM Act brought into effect ?
(1) January 17, 2000 (2) December 30, 2003
(3) June 15, 2005 (4) July 5, 2004
59. S 19, 1969 T 1 HIET UK Heheid deid 7ed T Teian =mdan <ed €, T TSRIEHI
FOT 3.
(1) T 100 HrEt (2) T75 % (@) T 50 HEL (4) T15HA
On July 19, 1969 fourteen commercial banks with deposits worth ¥ OI more were
nationalised.
(1) T 100 crore (2) T 75 crore (3) T 50 crore (4) T 125 crore

F=AT FTES AT / SPACE FOR ROUGH WORK
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60. TESe STIAMET @] Hivm faum 31 ?

(a) TR T (b) WS I

(c) WESA(H H (d) TS e

T FuR faum/ faum ste sme/a?

(1) wH (a) () (a) 3T (b) 3) @ O @ (), (b) ()
Which of the following is the department of Public Finance ?

(a) Public Expenditure (b)  Public Revenue

(c) Public Debt (d) Public Health

Which of the above statement/s is/are cormrect ?

(1) Only (a) (2) (a)and (b) 3) (@, ®and() ) (a) (b)and(d)

61. WO fauH fa=mm = :
() 2011 W&l RAWI® SFEEi! S 382 =T HRE fharie 2.
(b) 2011 =91 ITIUHTHR RS HER <X 73.0% 2l
(c) <uTdie fe oI W afgsien |8l e I Fe Ufew.
TIBUH FoR/F a7 srae a7/ oed ?
(1) (2) T (b) (2) T (o) (3) (b) 3T () (4) $H ()
Consider the following statements :
(a) The population density of India in 2011 was 382 per sq. km.
(b)  As per the census 2011, the literacy rate in the country is 73.0 percent.

(c) The sex ratio in the country has always remained favourable to females.
Which of the statement/s given above is/are incorrect ?

(1) (@) and (b) (2) only (c) (3) (b} and (c) (4) only (a)

62. TAYWS! HiHHRG A 1 96 G& HTEW AT,
(1) TR 1980 (2) e, 1982 (3) WMEr, 1979  (4) T, 1965
Credit Authorisation Scheme was introduced in .
(1) October, 1980 (2) August, 1982 (3) January, 1979 (4) November, 1965

63. W RIS = FHaaS Eeets! HRU S0 ?

(1) 1qh 9=a (2) U@ RISl Fredr AN
(3) oTEEE T Suferd (4) fo<ia frerae

Money Market faces shortage of funds due to :

(1) inadequate saving (2) growing demand for cash

(3) presence of unorganized sector (4) financial mismanagement

FoA1 FTAEE AT / SPACE FOR ROUGH WORK PT.O.
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64. A WHTA Wiga wita AT RV 7.
(@) o HA
(b) R WERFHIT IFS T
(c) =t egETa 9 vfas fafg fdft e
(d) F TERHGT T W T qwe
Fhete! S TaiE aET o ?
1) FH(©) (@ @) (2 FH(D), () (@ 3) FHF@), b)) 4 FH@), O)E
Capital Receipt of State Government includes
(a) Market loans
(b) Borrowing from Central Government
(c) Small Saving of the public and provident fund contribution
(d) G.S. T. share from Central Government
Which of the above option is correct ?
(1) only (¢), (d), (@) (2) only (®), (@), (d) () only () (®) () (4) only(d) ®) ()
65. SHIVIATE WAl WSt =i Tgu qEiowH 3THd
(1) fex (2) ded (3) e (4) ol (FESAR)
Public Expenditure of any Government shows following trend :
(1) Constant (2) Increasing (3) Decreasing (4) TFluctuating
66. WA GEEme TTIRET FOAHE! 2011-2012 W& HI0E Wi T90aR 3Teh ?
(1) TH. Ishad! Qg () &2 eweEe Afbd
(3) SIR.H. T bt (4) . e i
Which Committee was appointed in 2011-2012 to re-examine the issue of poverty ?
(1) S. Chakravarty Committee (2) D.T. Lakdawala Committee
(3) R.C. Datta Committee {4) C. Rangarajan Committee
67. T TS WRET IO SRSToA STERIA ot SsTidhreil Lol 376 ?

(1) 2000 (2) 2400 (3) 2500 (4) 2750
How much calories does a rural Indian man need from his daily diet ?
(1) 2000 (2) 2400 (3) 2500 (4) 2750
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68. WA thfzer o Fvren fadia gedmrka TEfe i ?

F16

(1) i AEESe @) e TE A e
(3) TEEH qF @ IR fo 5%
By which financial institution, monetary policy is implemented in India ?
(1) LIC (2) Unit Trust of India
(3} Co-operative Banks (4) Reserve Bank of India
69. TS dotaa fawm Tweq T IYia g& HAE FL
(1) 1980 - 81 (2)y 2014-15 (3) 1985 - 86 (4) 1989 -90
National Oilseeds Development Project (NODP) was launched in the year
(1) 1980 - 81 () 2014 - 15 (3) 1985 - 86 (4) 1989 - 90

70. WO fauH fa=m =1
(@) oo o it e wrar=n Frer werT Jo A AT &3
() Tt 9= o fea vaEden Fe[ T T HonEr a FTd.
() fTiored 9 e e X 1951 78 oF R 3% T Fo7 WH TOT U0 G FO.
Tl FoR/d fauE/ SET o/ e ?
(1) (a) =0f () (2 (b) S (c) (3) (a) S () (4) e T
Consider the following statements :

(a) Reserve Bank of India use the Dear Money Policy during the period of inflation.

(b} Reserve Bank of India use the Cheap Money Policy during the period of depression.

(c) The R.B.L started with a Cheap Money Policy with a Bank rate of 3% in 1951.
Which of the statement/s given above is/are correct ?

(1) {a) and (b) (2) (b) and (c) (3) (a) and (c) (4) All of the above
71. HIHRE! AEATEl A7 S0 U] RS T
(1) TS FE (TFER YGE) (2) forgge ware
(3) awE W (4) I A
are used to know the speed of any vehicle.
(1) Eddy currents (2)  Electric currents
(3) Magnetic induction (4) None of these

T FTETS AR / SPACE FOR ROUGH WORK
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72. WHM B 25 At U Soee] o UTg S ATE SR
(1) Tiea™ MHa HR 25 I R,
2) i Tt ofa 25 A oTR.
(3) S T AT 9 gfeuee AT AR naieda wHl FE® g el
(4) S T MR HR TARUS FH FHE Yehd TEL
A normal eye is not able to see objects closer than 25 cm because :
(1) the focal length of the eye is 25 cm.
(2) the distance of the retina from the eye-lens is 25 cm.
(3) the eye is not able to decrease the distance between the eye-lens and the retina beyond a
limit.
(4) the eye is not able to decrease the focal length beyond a limit.
73. SeE-Sg @A | oTfe s i wrie T oI5 Wiapi Scafsia S s aReaRd
(1) TEEFIE  (2) SEEAAWE (3) TS AWE (4) O AE
Whenever there is a relative motion between a source of sound and an observer, there is apparent
change in Frequency of a sound emitted by a source and as heard by the observer. This is called
1) Hzly—g_en’s effect (2) Joule'seffect  (3) Doppler effect (4) Raman effect
74. WHSUH SR ToEsd WIH Tefte faamrer a1 wefemn JrEret FRO g ?
(1) Au (2) Pt (3) Ag {4) Hg
Which of the following element was responsible for Minamata epidemic caused in Japan ?
(1) Au (2) Pt (3) Ag 4) Hg
75. HOEE YfeondeaT Y] HEO qdn gl
(1) spid (2) sp2d? (3) sp3d? (4) spid
Phosphorous pentachloride formedby _ hybridisation.
(1) spid (2) sp3d? (3) spid? (4) spid
76. SR HIS FRAA Uhd TR STHOTA HORSAN FleH HHGR N ET i n=2,/=0,m=0,5= +§-,3ﬁ?’

W o oA S,
(1) fofaam (2) dRfemm (3) WA (4) wESRH

If the valence shell of an element has only one electron having the following set of quantum
numbers : n=2,1=0,m=0,5= +%, then the element is

(1) Lithium (2) Beryllium (3) Boron (4) Hydrogen

FAT HITETS 90T / SPACE FOR ROUGH WORK
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77. A SIS o
A’ kT tBI
(a) HoH=T () ot
(b) SEHA (i) HeeeRE
© & (i) srmtER
(d) dmmem (v) oiss weaa woft
it 3T ;
@ ® (@ (@
@ @ @O @
@ O @ @ ()
G O @@ Gv) (@)
@ @ ™ 6 @
Match the following :
Group ‘A’ Group ‘B’
(a) Salamander (i) Poikilothermic
{b) Duckbilled Platypus (i) Sanguivorous
(c) Leech (i) Asymmetrical
(d) Paramecium (iv) Egg laying mammal
Answer Options :
@ @® @@ (@
n @ O @ ()
@ O @) @ @)
G O G @) (b
@ @ @) @ ()
78. BEMOW TE SRadl W S faehfe S, o ST gem T
1) TR ) (3) TR (4) e

In heteroneresis the gonads are developed in the posterior part of the body. These gonads bearing

segments are called :
(1) Epitoke

2)

Atoke

(3) Heterogany (4) Metaboly

79. WHSGUSH! HITK 9T AL RAES Fidte SR ?

(1) %

(2)

(3) ®HA (4) RS

Which of the following fish belongs to class Osteichthyes ?

(1) Shark

@)

Sting ray

(3) Catla (4) Electric ray

N HTHTETS AN / SPACE FOR ROUGH WORK
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80. HgfAmHe JEE fheFAreE 3THa.

(a) LA (b) SRS

(© M : (d) st T 9.

FSUF! Hrora vt/ T ST s/ ?

(1) (a3t (b) Fm (2) (b) FH (3) (o) wH (4) (o) snft (d) w1

insecticide is present in neem plant.

(a) DDT (b) Azadirachtin

(¢) Aldrin (d)y B.H.C

Which of the option/s given above is/are correct ?

(1) (@) and B)only (2) (b)only () (9 only (4) (0 and (d) only
81. hed IYA T HIMHT AESA &Y UM 7

(a) STwEEH (b) ITTH

(c) SFIHRTH . (@) uRFERTE

Tt Fvm watE/ 99y steT /9?2

(1) (a) B (2) (@) D) FH (3) (b)) TR 4) (d) R

A plant that does not produce fruit is called as .

(a) acarpous (b) fertile

(c) apocarpus - (d) parthenocarpus

Which of the option/s given above is/are correct ?

(1) (a)only (2} (@ and (b)only (3) (b)and(c)only (4) (d)only
82, el faymian faam =1 :

e 1. dfgow §RFmIg € U6 TR EIES fhehames ok
faur 11:  S=Rey anfirary fe ST frewees O SR |
ardt I

(1) faur 1 stER anfon faer= 11 9% M

(2) Taurs 1 9% onftn faem 11 ST 2

(3) 2= faur g e

@) o faum St s

Consider the following statements :

Statement I :  Bacillus thuringiensis (Bt) is a microbial pesticide.
Statement II :  Beaveria bassiana is a fungus used as a pesticide.
Answer Options :

(1) Statement I is correct and Statement II is incorrect

(2) Statement I is incorrect and Statement II is correct

(3) Both Statements are incorrect

(4) Both Statements are correct

FA1 TS AR / SPACE FOR ROUGH WORK
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TSRET A SRR gt o4 i Freamet sreve frat S s S
(1) oEieas 7 Yeimed Imiawie JfafrEmmy oo sTawed !
(2) OREIfEaH T TSI TRM SEeRit
(3) OEfEIHST S U HTAEGT [ A SN
(4) (1) emfor ) A=
The search for effective Malarial Vaccine is hampered due to the fact that :
(1
2

3
(4

Plasmodium lives inside cells hidden from immune response

—

Plasmodium changes its surface proteins

—__—

Plasmodium requires two hosts to complete life cycle

)
)
)
) Both (1) and (2)

84.

WSS HIvEl FRTC Uie=l 9 Yl T har FRIM aqsren omsd wafd #H o ?
(1) forpmaEe (2) HFEEE (3) sfgaeed (4) wHIRe
Which of the following WBC type has lowest percentage in blood of healthy human ?
(1) Lymphocytes (2) Monocytes (3) Eosinophils (4) Basophils

85.

Tgfor TR FREE THO FE HH F 2

(a) VIS GRER WA e (b) TOHHIST TAR HEA

(©) WA Hyew w9 (d) RS RN wE

i I

1) (@) =nfer (b) (2) (o) 3o () (3) (a) 37 (o) @) @), (), () 3 (d)
How does Insulin reduces blood glucose ?

(a) Promoting uptake of glucose ~ (b) Glycogen formation

{c) Protein synthesis {d) Fat storage
Answer Options :

(1) (a) and (b) (2)  (b) and (d) (3) (a)and (9) 4)  (a), (b}, (c)and (d)
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26 A

[EIOTHIY 35 AP AR. @R =R 9kl TSl Taid S WgHY i, Eears a9, gF Snfor dweet
T =T e TGO HIA. |

Rre Wi ale faeen s we A e e

(a) YR WX SR T ATeAial HEA AR areisdl Geyas HHl ST,

(b) T GISAT AR B0 WGHT IV THT qE0s BRI FGUUTIET S STH.

it gy

(1) (a) @ (b) & R Fremd Hra Fam.

(2) I (a) 7 Frend Frear A4l

(3) FE (b) T TRy wEd Ia.

@) (a) e (b) Tl wEl Frehd e A9 EL

According to the available data, quantum of pollution caused by various categories of vehicles on
the road of certain city reveals that the private four wheeler vehicles cause the maximum pollution,
this is followed by the pollution caused by the buses, the trucks and finally the two wheelers.

Select the conclusion/s from the following options that/those can be drawn on the basis of these
data.

(a) The number of two wheelers is less than the number of four wheelers plying on the city
roads.

(b) Pollution caused by a single private vehicle would be more than the pollution caused by any
single bus.

Answer Options :

(1) Both the conclusions (a) and (b) can be drawn.
(2) Only conclusion (a) can be drawn.

(3) Only conclusion (b) can be drawn.

(4) Neither conclusion (a) nor (b) can be drawn.

87.

fraf siquer FeaTs Ei o e TF Sad aed AR, Sfeen ey sten giardd
v ST 6 fAfT TR, S AT TN € = wad 20 il Tedt  d fade iRt
IS ?

(1) 107=M () 1= () 123 (4) 9=

A person walks along a road having lamp post at regular intervals. He took 6 minutes to walk
from the first to fourth lamp post. At which lamp post would the person be if he walked continuously

at a constant rate for 20 minutes ?
(1) 1ot (2 11t (3) 12t (4) oth
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88. WIfe-H=T 399 G ST AN dled! AFTefl 378, I 3Tl WIS Taes 70% BRI Hiewd
Frearore WA Feh Wi W Frel fIwn § qolvs Huass e oMRd. HiFe! SISt Heeitared FUATErs!
TR WO WideH A9 Bd 3. T AN AN HeAT 9ol wguu A SA Sreen Hii
S Hew WO, fadioa:  HOEEn vedw ARen IRunTERe S qaterured uedt fasian e
TfES. WP TR TR WEE ST oIl FIHRE TS GUEr YRa w9 ST 07 I
QERTET 107 Al

Tz feoem faumiq 9o s walq sfaa fred frae.
(1) TAETN T ZEUATHE! STHETeraIe! Siehial YUl WERRT e’ Hadt=l HEd e Jodied e

e,

(2) Srgdd T WA SYEO THiaRuRAE e e d e aradd Yeds AR TeRider. giaed
I QI

(3) TFRIER YOI AT TBVARAS Biehil Teodlial F Terid WO IS IvaRIe 0 EEeT e &
WS,

(4) e HEE WS eA RN 9 aifetamten Safafauder suw 3t SR,

There is an increased demand for fish as it is a good source of protein. Due to this about 70% of the
world’s marine fish stocks are now overfished or already fished at full capacity. Aquaculture is
continuously expanded for farming fish for human consumption. But it is necessary to manage
environmental risks associated with fish farming, such as water pollution and transmission of
disease to adjacent wild fish population. For this aquaculture sector needs to device effective and
environment friendly methods of rearing fish species, particularly predator fish like tuna. Wealthy

people are crazy about eating fish like tuna that are fed using marine wild-caught fish and this
puts pressure on oceans.

Select from following statements the most appropriate conclusion of above paragraph.

(1)  People should be encouraged to adopt total vegan diet in long-term for avoiding environmental
problems.

(2) Aquaculture of predator fishes should be banned for the time being, till other environment
friendly devise is designed for rearing them.

(3) People should be encouraged to consume freshwater fish varieties that are living in lakes and
rivers to avoid pressure on the oceans.

(4) The farming of only certain kind of varieties is damaging the biodiversity of ecosystems.

FoAT TR AN / SPACE FOR ROUGH WORK PT.O.
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89.

o 28 A

ST Heden 39 3 AR, W =W AeAIen I I AR TE. RO Fomden 39 3¢ e, g
M HIET T 3€ AR e, T 39 IS oAl B Hl oS )

(1) Hred, 3, 3790, TS, FO
(2) =, Hiew, TEiE, WY, FHn
(3) e, ¥, T, T, FW
(4) =, R, e, A9, F0

As'hok jumped higher than Mohan but not higher than Chetan. Naresh jumped higher than
Krishna but not as high as that of Mohan. Then what is the correct descending order of players
considering their jump ?

(1) Mohan, Chetan, Ashok, Naresh, Krishna
(2) Chetan, Mohan, Ashok, Naresh, Krishna
(3) Chetan, Ashok, Mohan, Naresh, Krishna
(4) Chetan, Naresh, Mohan, Ashok, Krishna

90.

HTE HFIT AHER G A V E FF An =0 IS0 A0 S @ =R G = W9 . G € =
Aj = SO TR, Aj SIS STS1 S ST S ST VST S eT SEA I 3. V8 et
An 1 RS MU Aj =0 IHAHE R, V M0 S WSS9 R, K G 0 V A+ i
ST SREERT el W A Wisdrs gavia feowa faymites! v WS faum Fee.

(1) i A v fePrer sméa ¥ A Foeam v fafvea w3 Jom e
(2) G TuTN WHET .

(3) V SIHTST TR 3.

(4) An YR TF SRTIRE T T AR,

Some persons are sitting on a bench. V is sitting next to An and S is next to G. G is not sitting with
Aj. Ajis on the left end of the bench and S is in second position from right hand end. V is on the
right side of An and to the right side of Aj. V and S are sitting together. If G and V exchange their
positions select the statement that is not true with respect to the given information.

(1) Positions cannot be ascertained as the direction they face is not known.
(2
(3
(4

) G occupies the middle position.
)V occupies the end position.
)

An occupies the second position from one of the end.
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91, R UF FW 10 AU N feaeh 2 o, A 5 fRawm qof Fa[, ™ = 0 2 7R faes 5 99
FE, W & fhdl feaw onmie ?
(1) 8 ) 5 (@) 10 4 12

If 10 people can do a piece of work in 5 days, working 2 hours a day, how long will 2 people take
to do the same work, working 5 hours a day ?

1) 8 ) 5 3) 10 4 12

92, Yz 5 faum snftr 9 3 faum fafire FAM T F&T T@H a0 Hed. W dlfdkwgred auy Jrwarg
frRftm s v el giyaar gud StoamE! Spids 3 faum ¥ el 2 faumieR snefia
fred faum s &4

(a) T A TAELOTHIS! TR TR,

(by A AR FIE SHFARS 9 3 ERAE A= S F,

(c) e SHTEURE d TAE a1 TR SRS TR

(d) THEI TR AEIH HaT SHEFARS 9 TG AGA S0 Fd 7R

(e) TTRATH TTRYH TAEOIAS! SRS R,

afdt 3w

1) ®) ) (9 2 (. () (e 3} (© (a) (@) @ (®) @) @)

Given below are 5 statements followed by options composed of 3 statements put together in a

specific order. Choose the option that indicates logically valid argument. To be valid the 374
statement of the composition should be the conclusion based on preceding 2 statements.

{(a) Some vehicles are not hazardous to the environment.

(b)  Vehicular traffic leads to emission of carbon dioxide and other greenhouse gases.
(c) Carbon dioxide and other greenhouse gases are hazardous to the environment.
(d) Some vehicular traffic does not emit Carbon dioxide and other greenhouse gases.
()  Vehicular traffic is hazardous to the environment.

Answer Options :

1) (®)(e), 9 @ © ©®) (e @) © @) @ @ 0@ @

93. YRIe wiTwHe yeAfaare (7) St 4y vty frerer
32,33,37,46,62, ___?
1) 83 2) 87 (B) 94 (4) 98

Replace the question mark (?) by an appropriate alternative in the following series :
32, 33, 37, 46, 62, ?

1) 83 (2) 87 (3) 94 4) 98
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94. I SHKI=N FAE TAE 60 FY 3R, IS 94 O 2: 3 : 4 370 TR, TG 7807 70 waid s
eI TS e T ?
(1) 2598 (2) 30aW (3) 409§ (4) 459§
The average age of three person is 60 years. Their ages are in the ratio of 2:3:4. What is the
difference between the ages of the youngest and the eldest person ?
(1) 25 years (2) 30 years (3) 40 years (4) 45 years
95, TamETl fasda wF feash fraedle ageaien o 51 agen fuw fawem. g feastt fm
Treae sTHoear agedi= et 39 Sgew A fawedl. foeee 26 wge ficos Tfget.
(1) 100 (2) 96 (3) 104 4) 92
A street vendor sold 2 dolls more than half the number of dolls she has on one day. The next day
she sold 2 dolls less than half of the remaining number of dolls available with her. If she was left
with 26 dolls.
Select the number of dolls she did initially have.
(1) 100 (2) 96 (3) 104 (4) 92
96. SM TEATY TUINR 3 ; 4 A1 WHION S&d o i1 ani= S SR 400 e T T HEAT Rl ?
1) 12,16 @ 9,12 (3) 6,8 @) 15,20
If the ratio of two numbers is 3 : 4 and the sum of their squares is 400, then which are these
numbers ?
1) 12,16 2 9 12 (3) 6,8 4) 15, 20
97, g TR STER 10%  HH e T TR IeNTes @ 30% T ARTe | T TR Tl T o ot ?

1 17 2) 20 @) 19 @) 18

Neha’s salary was first reduced by 10% and then increased by 30% due to upturn. So what
percent increase in original salary ?

1 17 2) 20 @) 19 ) 18
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98. WM @& 10 km T o, THE T SEUEHS 2 km TS, @ T71 967 A& 2 km @1, HE
e IFS 7 km TO. T A=A eardr=a THURA o qearen feden wrmda sia
R,

(1} 13 km (2} 18 km
(3) 20 km (4) Teoemn Afedt=n SMYR FEO ¥R TR

Soma moves 10 km to East and then turns to South and moves 2 km. He again turn East and walks
2 km. After this, he turns to North and walks 7 km. Then the distance from his starting point to
the present point is

(1) 13 km (2) 18 km
3} 20 km (4) Can not be determined from the given data

99, X TS WHH SIS 10 TTH 2 IuiE Sae! a8 el fHe0R TS 9 dddie s e Tl
T 750 3R, T o @hH ol ?

(1) 75,000 (2) 60,000 (3) 15,000 (4) 90,000

The difference between the simple and compound interest on a certain sum of money for 2 years at
10% per annum is ¥ 750. What is the sum ?

(1) 75,000 2) 60,000 (3) 15,000 (4) 90,000
100. 1 ;1 __ 1 sifém IR

856 x 592 856 x 264 592 x 264 —

) —r n b

1) g56x 59 2} smx9 @) 0 4 1

1 + 1 1

The value of - is
856 X 592 856 x 264 592 x 264

1 1
1) Sex 59 2 mxo 3 0 4) 1

-00o0-
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32 A

T - (= 1 1 3.

® wsigRadas fafta Fomm fafire arie &= ®m (W6 o%) wCE.  weTgRaehefaltad SEXUBER T FaT
BRI Hod B HedTd A Bl HOATAT Se9TH $S o8, T AMS RS T @R SHIARET A Ty
Fodl THETE BT ARHIKET YRISY SIaEEay ArafEe—82" TRiie d{gagar HIER AR 196
T AN RN HHIG U% 9T HIIETERAT S/ FH B9 U ST AT S3Tedl 8| o 2ide.

(9) WEX WeTubmarsl Sy fafta wed G duwal HSETUE § VSTRaE WA aEt TUamaNe] 4o
FAOIT TR 3178, A TOARFRIERT A SHEaR HI0aT SHRaRe WRT—1 TRERRE A (0 0@ 0 Esas

.

T 0T

0. %. 201. GGl 99 T FHIATEIS B A T Bl
(1) @ e g @) SvatgE fqmmnm
(3) T (T T @  T@HST e

¥. #. 201.

&1 YR g T (3) T TRHIET U o o, s I1 99T X “(3)7 BRe. TRad @IesH
s %. 201 TS sa-wAE () ¥ ads T srEifed e et AT o,

ONON MO

M TEAR TG WeTIRABAIS T WIaT oA ST o et Wil gl STufbades
W T VTR e deftd ago qUTt Briihd $ET TEarEr. e W e S e T,
e T Y ¥ e
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